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QUESTION 1

Which two statements are true about date/time functions in a session where NLS_DATE_PORMAT is set to DD-MON-
YYYY SH24:MI:SS

A. SYSDATE can be used in expressions only if the default date format is DD-MON-RR.
B. CURRENT_TIMESTAMP returns the same date as CURRENT_DATE.
C. CURRENT_DATE returns the current date and time as per the session time zone

D. SYSDATE and CURRENT_DATE return the current date and time set for the operating system of the database
server.

E. CURRENT_TIMESTAMP returns the same date and time as SYSDATE with additional details of functional seconds.
F. SYSDATE can be queried only from the DUAL table.

Correct Answer: CE

QUESTION 2

Examine the description of the EMPLOYEES table:

Name Null Type

EMP_ID NOT NULL NUMBER
EMP_NAME VARCHAR?2 (10)
DEPT_ID NUMBER (2)
SALARY NUMBER(8,2)
JOIN_DATE DATE

NLS_DATE_FORMAT is set to DD-MON-YY. Which query requires explicit data type conversion?
A. SELECT salary + 120.50 FROM employees;

B. SELECT SUBSTR(join date, 1, 2)- 10 FROM employees;

C. SELECT join date 11.\\'11 salary FROM employees;

D. SELECT join date FROM employees where join date > *10-02-2018%*;

E. SELECT join date + 20 FROM employees;

Correct Answer: D

QUESTION 3
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Which three statements are true about views in an Oracle database?

A. The WITH CHECK clause prevents certain rows from being displayed when querying the view.

B. The WITH CHECK clause prevents certain rows from being updated or inserted.

C. Tables in the defining query of a view must always exist in order to create the view.

D. Date Manipulation Language (DML) can always be used on views.

E. Deleting one or more rows using a view whose defining query contains a GROUP BY clause will cause an error.
F. Views can be updated without the need to re-grant privileges on the view.

G. Inserting one or more rows using a view whose defining query contains a GROUP BY clause will cause an error.

Correct Answer: BEF

QUESTION 4

Examine the description of the SALESL table:

Name Null Type
SALES_ID NOT NULL NUMBER
STORE_ID NOT NULL NUMBER
ITEMS_ID NUMBER
QUANTITY NUMBER
SALES_DATE DATE

SALES?2 is a table with the same description as SALES1,

Some sales data is duplicated In both tables.

You want to display the rows from the SALES1 table Which are not present in the SALIES2 table.
Which set operator generates the required output?

A. SUBTRACT

B. INTERSECT

C. UNION ALL

D. MINUS

E. UNION

Correct Answer: D

QUESTION 5
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Examine this query:

SELECT 2 FROM dual d1 CROSS JOIN dual d2 CROSS JOIN dual d3;
What is returned upon execution?

A. 0 rows

B. an error

C. 8 rows

D. 6 rows

E. 1row

F. 3 rows

Correct Answer: E
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